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e Question No.1
An effective method to prevent nematode infestation when it is not yet present in the area?
Options:

1. Quarantine

2. Heat treatment
3. Crop rotation
4. Mulching

5.

Answer : Crop rotation

e Question No. 2
Which fertilizer is mainly manufactured in India?
Options:

1. Ammonium Phosphate
2. Single Super Phosphate
3. Urea

4. None

5.

Answer : Urea

e Question No. 3
Total Stem Parasite Weed of onion is?
Options:

1. Orabanche cernua

2. Striga lutea



3. Cuscuta chinensis
4. None

5.

Answer : Cuscuta chinensis

e Question No. 4

Sunflower and buckwheat are examples of!

Options:

1. Green Legume manure

2. Green leaf legume manure

3. Green leaf non-Legume manure
4. Green Non-legume manure

5.

Answer : Green Non-legume manure

e Question No. 5

Main Institute for Agriculture Research & Education in India is?

Options:

1. NABARD
2. GBPUAT
3.ICAR
4.1ARI

5.

Answer : ICAR

e Question No. 6

The 15% more trees could be accommodated in the ?
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Options:

1. Square System

2. Hexagonal System
3. Contour System

4. None

5.

Answer : Hexagonal System

e Question No.7

Which mouth-part in the insect is initially used suck the liquids and break down the food into subgroups?
Options:

1. Mandibulate
2. Chewing

3. Haustellate
4. Grinding

5.

Answer : Haustellate

e Question No. 8
ICRISAT is Located at?
Options:

1. Hyderabad
2. New Delhi
3. Kolkata

4. Mumbai

5.

Answer : Hyderabad



e Question No.9

Biggest Fertilizer Cooperative in India is?

Options:

1. KRIBHCO

2. Dayal Group
3.IFFCO

4. None

5.

Answer : IFFCO

e Question No.10

Which crop is badly affected by the increase of RH?

Options:

1. Sunflower
2. Maize

3. Sugarcane
4. Sorghum

5.

Answer : Maize

e Question No. 1

Which of the following is a seasonal pest?

Options:

1. Rice Stem Borer
2. Case worm

3. Red hainy Caterpillar
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4. Chilli Thrips

5.

Answer : Red hainy Caterpillar

e Question No. 12
Which of the following family does the weed Grass belongs to?
Options:

1. Poaceae

2. Cyperaceae

3. Crotalaria verrucose
4. Indigofera viscose

5.

Answer : Poaceae

e Question No. 13

The law which expresses itself while masking the other expression completely when two alleles are brought

together in Fl hybrid?
Options:

1. Law of segregation
2. hybrid cross

3. Law of purity

4. Law of dominance

5.

Answer : Law of dominance

e Question No. 14

weewemeewnn 1S the apex body in India for research and education pertaining to Agriculture?
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Options:

1. Agricultural Support and Services Project
2. Indian Council of Agricultural Research
3. State Agricultural Universities

4. Department of Agricultural Extensions

5.

Answer : Indian Council of Agricultural Research

e Question No. 15

Production of coffee powder from coffee seeds is an example of?

Options:

1. Time Utility
2. Form utility
3. Place utility
4. Possession utility

5.

Answer : Form utility

e Question No. 16

The condition where the plant is unable to produce a zygote with its own pollen is called as?

Options:

1. Self incompatibility

2. Impotence from degenerated or abortive pistil or ovule
3. Protogyny

4. Dichogamy

5.

Answer : Self incompatibility
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e Question No. 17

weeemamen 1S Called as the light-sensitive part of ommatidium?

Options:

1. Pigment cells
2. Semper cells
3. Rhabdom

4. Cystaine cone

5.

Answer : Rhabdom

e Question No.18

Which one of the following is an example of restorative crops?

Options:

1. Brinjal

2. Legumes
3. Ginger

4. Sunflower

5.

Answer : Legumes

e Question No.19

Which of the following is not a parasite?

Options:

1. Protozoa
2. Nematode

3. Arthropods
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4. All of these

5.

Answer : All of these

e Question No. 20
Which one of the following is an example of concentrated organic manure?
Options:

1. Farm yard Manure
2. Green Manure

3. Oil cake

4. Compost

5.

Answer : Oil cake

e Question No. 21
Which of the following plants bear true flowers with stamens, pistils or both with seed containing an embryo?
Options:

1. Spermatophyta

2. Gymnospermae

3. Angiospermae

4. Monocotyledonae

5.

Answer : Angiospermae

e Question No. 22

What is the liquid used in cryopreservation techniques?



Options:

1. Ozone

2. Liquid chlorine
3. Liquid nitrogen
4. Sodium chloride

5.

Answer : Liquid nitrogen

e Question No. 23

Rooting of shoot, stems or branches while they are still attached to the parents is called a_

Options:

1. Budding

2. Layering

3. stool layering
4. Air layering

5. Inarching

Answer : Layering

e Question No. 24

The capital that is consumed by an economy or a firm in the production process is known as

Options:

1. Depreciation

2. Dead-weight loss
3. Capital loss

4. Production cost

5.

Answer : Depreciation
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e Question No. 25

Elasticity of supply refers to the degree of responsiveness of supply of a commodity to changes in its:

Options:

1. Demand

2. Price

3. Supply
4. Cost of production

5.

Answer : Price

e Question No. 26

What is the application efficiency in Furrow irrigation method?
Options:

1. 50-60
2.30-40
3.60-80
4.70-80

5.

Answer : 60-80

e Question No. 27
Which method is used for Protoplast Culture?
Options:

1. Hanging Drop Culture
2. Plasma clot

3. Rill method
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4. Grid method

5.

Answer : Hanging Drop Culture

e Question No. 28

Consider the planting distance of the Sapota crop is 8 x 8 (meters). Calculate the number of trees per hectare by

using the square system?
Options:

1.139
2.118
3.156
4.80

5.

Answer : 156

e Question No. 29

Which type of method is used for generating and storing the energy by burning the wood or garbage in the

absence of oxygen?
Options:

1. Anaerobic digestion
2. Landfil gas

3. Pyrolysis

4. Gasifcation

5.

Answer : Pyrolysis

e Question No. 30



Which of the following assets, the insurance cannot be covered?
Options:

1. Machines

2. Animal Husbandry projects
3. Crops to some extent

4. Manpower

5.

Answer : Manpower

e Question No. 31

Name the winter annual weed from the following?
Options:

1. Commelina benghalensis
2. Boerhavia erecta

3. Chenopodium album

4. Alternanthera echinata

5.

Answer : Chenopodium album

e Question No. 32

Which can help a producer in determining how much of a product is required to be produced?
Options:

1. Factor-Product Relationship
2. Law of Increasing Returns
3. Factor-Factor Relationship
4. Law of Constant Returns

5.
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Answer : Factor-Product Relationship

¢ Question No. 33
Which of the following is the source of agro-industries organic waste?
Options:

1. Crop residues
2. Piggery

3. Press mud

4. Market waste

5.

Answer : Press mud

e Question No. 34
Which one of the following is a micro nutrient in the soil?
Options:

1. Nitrogen
2.1lron

3. Phosphorus
4. Calcium

5.

Answer : lron

e Question No. 35
Family of Jute is?
Options:

1. Graminae



2. Compositeae
3. Tiliaceae
4. None

5.

Answer : Tiliaceae

e Question No. 36
Body & wings covered by Overlapping Scales found in Order?
Options:

1. Lepidoptera
2. Coleoptera

3. Diptera

4. Hymenoptera

5.

Answer : Lepidoptera

e Question No. 37
Under Micro-Economics study of?
Options:

1. Price Theory

2. Farm Theory

3. Market Management
4. None

5.

Answer : Price Theory

e Question No. 38
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Plant food manufactured by the process of photosynthesis in the presence of a nutrient in chlorophyll is?

Options:

1.Ca

2. Mg
3.1lron
4. Boron

5.

Answer : Mg

e Question No. 39

During germination radical and plumule develop from?
Options:

1. Embryo

2. Endosperm
3. Hilum

4. Seed coat

5.

Answer : Embryo

e Question No. 40

In Our Country Word 'Apex' Means Which Type of Institute?
Options:

1. National Level
2. State Level

3. District Level
4. Village Level

5.
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Answer : National Level

e Question No. 41
The use of tensiometer is confined up to metric potential of!
Options:

1.0.8 bar
2.0.6 bar
3.0.4 bar
4.0.2 bar

5.

Answer : 0.8 bar

e Question No. 42
Organic carbon is a measure of!
Options:

1. Available Nin soil
2. Available P in soil
3. Available Kin soil
4. Available Mg in soil

5.

Answer : Available Nin soil

¢ Question No. 43
Response of different organisms to the environmental rhythms of light and darkness is called?
Options:

1. Topography



2. Phototaxis
3. Photoperiodism
4. vernalization

5.

Answer : Photoperiodism

e Question No. 44

Which of the following not belong to Post harvest handling of seed crop?

Options:

1. Seed Selection
2. Threshing

3. Drying

4. Grading

5.

Answer : Seed Selection

e Question No. 45

Best method to handle nematode Infestation into new area is?

Options:

1. Heat Treatment
2. Flooding

3. Chemical Control
4. Grading

5.

Answer : Heat Treatment

e Question No. 46
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Which one is non PCR based molecular marker?
Options:

1. RAPD
2.SSR

3. RFLP
4. ALFP

5.

Answer : RFLP

e Question No. 47
Who write the book 'l Too Had a Dream'?
Options:

1. MS Swaminathan
2. Arun Jeitely

3. APJ Abdul Kalam
4. Verghese Kurien

5.

Answer : Verghese Kurien

e Question No. 48
Which of the following gas present in the biogas has composition value 0-1 %?
Options:

1. CO2
2.N2
3.H2
4.02

5.



Answer : H2

e Question No. 49
Seed Treatment with chemical is done for?
Options:

1. Plant Selection

2. Nutrients Management
3. Genetic Improvement
4. Plant protection

5.

Answer : Plant protection

e Question No. 50
Term Mitosis is coined by?
Options:

1. E Purkenje

2. W Flemming
3. Hook

4. None

5.

Answer : W Flemming

e Question No. 51
Which one of the following is not the principles of Farm Finance?
Options:

1. Character

ixam

0(6



ixam

2. Capacity
3. Capital
4. Calibre

5.

Answer : Calibre

e Question No. 52
Which one of the following Material is widely used for coating in iron & steel pipes to avoid corrosion?
Options:

1. Tar & Cement Moltar
2. Bitumen & Asphite
3. Enamels & Resins

4. Paints & Resins

5.

Answer : Tar &amp; Cement Moltar

e Question No. 53
Which one of the following is used in organic farming to prevent weed germination & growth?
Options:

1. Cow pea
2. Chickpea
3. Linseed
4. Mulching

5.

Answer : Mulching

e Question No. 54
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woemewee. NEIPS in deciding the allocation of scarce resources among crop and livestock enterprises for maximum

profit?
Options:

1. Factor-Product Relationship

2. Factor-Factor Relationship

3. Product Product relationship
4. Product-Factor Relationship

5.

Answer : Factor-Factor Relationship

e Question No. 55

Which of the following Nitrogen Fertilizer is partly soluble?
Options:

1. Ammonium sulphate.

2. Calcium ammonium nitrate
3. Urea

4. Potassium Nitrate

5.

Answer : Calcium ammonium nitrate

e Question No. 56

Which of the following is not the right reason for fluctuation in prices?
Options:

1. Lack of storage
2. Lack of transportation
3. Lack of communication facilitates

4. Demand and supply factors
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Answer : Lack of communication facilitates

e Question No. 57

Plant parasitic nematodes feed on the of the Plant ?

Options:

1. Leaves
2.Stem
3. Fruits
4. Roots

5.

Answer : Roots

e Question No. 58

What happened when an excess amount of Nitrogen Fertilizer is Introduced in to Soil Ecosystem?

Options:

1. Soil Decay

2. Soil Acidification
3. Soil Residue

4. Microbial Activity

5.

Answer : Microbial Activity

e Question No. 59

ATMA Scheme was approvedon________ . The Scheme has made extension system farmer driven and farmer

accountable
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Options:

1.2000
2.2005
3.2010
4.2015

5.

Answer : 2005

e Question No. 60

Somatic embryos generate plants called as?

Options:

1. Mutant
2.Clone

3. Zygote
4. Embling

5.

Answer : Embling

e Question No. 61

What does FYM stands for?

Options:

1. Farm Yard Manure

2. Farm Yeast Manure

3. Fertilizer Yeast Manure
4. None

5.

Answer : Farm Yard Manure
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e Question No. 62

Pest population at a damaging level?
Options:

1. General Equilibrium Position
2.ETL

3. EIL

4. Damage Boundary

5.

Answer : EIL

e Question No. 63

Which statement is true regarding the exchangeable acidity in the soil chemistry?

Options:

1. an exchangeable acidity is derived from exchangeable Na3+cations
2. exchangeable acidity is derived from exchangeable Ca3+cations
3. exchangeable acidity is derived from exchangeable Al3+ cations

4. exchangeable acidity is derived from exchangeable Al3+ anions

5.

Answer : exchangeable acidity is derived from exchangeable AI3+ cations

e Question No. 64
<eeememeiS the nematode that causes the blackhead disease in banana crops?
Options:

1. Pratylenchus coffee
2. Heterodera oryzicola

3. Radopholus similis
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4. Helicotylenchus multicinctus

5.

Answer : Radopholus similis

e Question No. 65
PDM 11 is a variety of?
Options:

1.Urd

2. Arhar
3. Moong
4. Lobia

5.

Answer : Moong

e Question No. 66
The tillage that is done immediately after crop harvesting to remove the weeds and to restore soil structure is?
Options:

1. Strip

2. Sub-soil
3. Fallow
4. Stubble
5.

Answer : Stubble

e Question No. 67

The value of elasticity of demand in perfectly inelastic demand is?
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Options:

1. One

2. Less than unity
3. Infinity

4.Zero

5.

Answer : Zero

e Question No. 68

Who is appointed as the chairperson of the ATMA Governing Board?
Options:

1. Agriculture minister
2. District Magistrate
3. Elected member from the heads of line departments

4. Agriculture expert appointed by the Prime Minister
5.

Answer : District Magistrate

e Question No. 69

There are three geothermal power plant technologies being used to convert hydrothermal fluids to electricity,

which of the following is not correct one:-
Options:

1. Dry steam

2. Flash steam

3. Binary cycle.

4. Hydro Thermal

5.
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Answer : Hydro Thermal

¢ Question No. 70
Which one of the following register is not required at dairy farm
Options:

1. Calving register

2. Livestock register

3. Animal History register
4. Soil Health register

5.

Answer : Soil Health register

e Question No. 71
Which of the following antibiotics component in corn leaves affects European corn borer?
Options:

1. DIMBO
2. Gossypol
3. Mite

4. Aphids

5.

Answer : DIMBO

e Question No. 72
Which of the following components of a Farm Pond Is useful for letting out the excess water from the pond?
Options:

1. Storage Area
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2. Earthen Dam
3. Mechanical Spillway
4. Emergency spillway

5.

Answer : Mechanical Spillway

e Question No. 73
Which of the following correctly defines the "RotoDynamic Pumps"
Options:

1. Pumping head increases. the rate of pumping decreases
2. Pumping head increases. the rate of pumping increases
3. Pumping head decreases. the rate of pumping decreases
4. Pumping head decreases. the rate of pumping increases

5.

Answer : Pumping head decreases. the rate of pumping increases

e Question No.74
If a consumer purchases various quantities of goods or services due to the price change of related goods is called?
Options:

1. Income demand
2. Surplus demand
3. Cross demand
4. Price demand

5.

Answer : Cross demand

e Question No. 75
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If a consumer purchases various quantities of goods or services due to the price change of related goods is called?
Options:

1. Income demand
2. Surplus demand
3. Cross demand
4. Price demand

5.

Answer : Cross demand

e Question No. 76

An aquatic dragonfly that undergoes the incomplete metamorphosis has six legs, a head with compound eyes and

antennae, and a ?
Options:

1. small abdomen
2. large abdomen
3. hands
4. thigs

5.

Answer : large abdomen

e Question No. 77
Which one of the statements is correct regarding the energy calculation using Rittinger?
Options:

1. energy used for size reduction is directly proportional the change in length
2. energy used for size reduction is inversely proportional the change in length
3. energy used for size reduction is inversely proportional the change in Surface Area

4. energy used for size reduction is proportional the change in Surface Area
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Answer : energy used for size reduction is proportional the change in Surface Area

e Question No.78

Which of the following loan type is disbursed to help farmers, pay wages?
Options:

1. Investment Credit

2. Repayment Credit

3. Marketing Credit

4. Production Credit

5.

Answer : Production Credit

e Question No. 79
From the following select the incorrect statement regarding the clonal selection in plant breeding?
Options:

1. New genotypes can be obtained using this method
2. Stability in the progeny of clones for various generations
3. Can be implemented for both the introduced and the local varieties

4. Kufri safed potato variety is one of its achievements

5.

Answer : New genotypes can be obtained using this method

e Question No. 80

From the following statements, select the appropriate answer regarding the pre-tarsus in the insect leg?

Options:
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1. Ungues is the lobe between the claws

2. Empodium is the pair of claws

3. Arolium consists of the large bristle in between the claws
4. Pulvili is called the pair of adhesive pads

5.

Answer : Pulvili is called the pair of adhesive pads

e Question No. 81

Which type of antennae has the appearance of comb-like structure and longer on one side?

Options:

1. Pectinate
2. Serrate

3. Clavate

4. Setaceous

5.

Answer : Pectinate

e Question No. 82

Which of the Following Disease is not caused by Polluted Water & Unsanitary conditions?

Options:

1. Malaria
2. Fluorosis
3. Cholera
4. Hepatitis

5.

Answer : Malaria

ixam
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e Question No. 83

What is the Purpose of Instrument Tintometer?
Options:

1. Measure the temperature in the water
2. Measure the color in the water

3. Measure the Odour in the water

4. Measure the Turbidity in Water

5.

Answer : Measure the color in the water

e Question No. 84

Syngamy results in formation of which zygote?
Options:

1. Diploid
2. Haploid
3. Monoploid
4. Tetraploid

5.

Answer : Diploid

e Question No. 85

Which chromosome model was proposed by Du Praw on the basis of observation made on Human Chromosome?
Options:
1. Nucleosome Solenoid

2. Folded Fiber

3. Molecular



4. None

Answer : Folded Fiber

e Question No. 86
Which of the following is not a type of manure collecting Method?
Options:

1. use cattle shed with kaccha floor
2. Dry Earth System
3. Loose box System

4. Use cattle shed with Permeable Floor for collecting Urine

5.

Answer : Dry Earth System

e Question No. 87
Income effect is stronger than substitution effect for?
Options:

1. Inferior Goods
2. Giffen Goods
3. Normal Goods
4. None

5.

Answer : Giffen Goods

e Question No. 88

When total product remains constant, the marginal Product will be?
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Options:

1. Zero

2. Positive
3. Constant
4. None

5.

Answer : Zero

e Question No. 89
Chemical formula of Gypsum is?
Options:

1. CaCQ3
2.CaS0O4.2H20
3. CaP04

4. CaHPO4

5.

Answer : CaS04.2H20

e Question No. 90
Elasticity of supply refers to the degree of responsiveness of supply of a commodity to changes in its:
Options:

1. Demand

2. Price

3. Supply

4. Cost of production

5.

Answer : Price
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e Question No. 91

____isused for measuring the draft of agricultural implements.
Options:

1. Galvanometer
2. Hydrometer

3. Dynamometer
4. Penetrometer

5.

Answer : Dynamometer

e Question No. 92

Total depth of water (cm) required by a crop during its duration in the field is known as:

Options:

1. Duty
2. Base period
3. Delta
4. Palco

5.

Answer : Delta

e Question No. 93

The earthworm that is considered as surface dwellers live near the soil surface is called as?

Options:

1. endogeic
2. epigeic

3. anecic

ixam
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4. monogeic

5.

Answer : epigeic

e Question No. 94

IN....c........ Ti plasmid is responsible for virulence?
Options:

1. Ori

2. Vir Region

3. T DNA Region
4. Opine Region

5.

Answer : Vir Region

e Question No. 95

In general, Formative stage of sugarcane crop occurs after:

Options:

1. 60-80 days after planting
2. 80-120 days after planting
3. 60- 130 days after planting
4.130-220 days after planting

5.

Answer : 60- 130 days after planting

e Question No. 96

A series of still pictures on one roll is called:
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Options:

1. Channel

2. Film strip

3. Mock up

4. Black board

5.

Answer : Film strip

e Question No. 97

In the composition of soil on volume basis soil water and soil air comprises 50%. What is the percent of mineral

matter?
Options:

1.45
2.5
3.50

4.20

Answer : 45

e Question No. 98

National Income generated by Agriculture is calculated by using?
Options:

1. Income Method

2. Output Method

3. Expenditure Method
4. None

5.



Answer : Output Method

e Question No. 99
Seed work board is required for?
Options:

1. Viability test of seed

2. Germination test of seed
3. Purity test of seed

4. Blending of seed

5.

Answer : Purity test of seed

e Question No. 100

ceernnee.Will help in observing the availability of cash in the business throughout the year?

Options:

1. Petty cash

2. Annual Income-Expenditure statement
3. Annual turnover

4. Cash flow statement

5.

Answer : Cash flow statement

e Question No. 101
The Largest saline water lake in India is-
Options:

1. Dal lake

ixam
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2. Chilka Lake
3. Wular Lake
4. Pushkar Lake

5.

Answer : Chilka Lake

e Question No. 102

Grassland of veld in founded in which Continent?

Options:

1. North America
2. South America
3. Africa

4. Asia

5.

Answer : Africa

e Question No.103

Arid soil ranges from red to brown in color. It is well developed in which state?

Options:

1. Karnataka

2. Andhra Pradesh
3. Gujarat

4. Rajasthan

5.

Answer : Rajasthan

e Question No. 104

ixam
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Which river is known as the ‘Father of Waters'?
Options:

1. Mississippi River
2. Indus River

3. Amazon River
4. Nile River

5.

Answer : Mississippi River

e Question No. 105

The gas used for filling weather balloons is-
Options:

1. helium

2. hydrogen
3. air

4. nitrogen

5.

Answer : helium

e Question No. 106
The major component of honey is-
Options:

1. glucose

2.sucrose
3. maltose
4. fructose

5.

ixam
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Answer : fructose

e Question No. 107
The chemical name of the Vitamin B6 is
Options:

1. Pyridoxine

2. Thiamine

3. Biotin

4. Ascorbic acid

5.

Answer : Pyridoxine

e Question No.108
The essential element in the formation of chlorophyll is
Options:

1. Magnesium

2. Potassium

3. Carbon Dioxide
4. Phosphorous

5.

Answer : Magnesium

e Question No. 109
Thinnest skin in the human body is
Options:

1. Fingertips
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2. Eyelids
3. Palm
4. Sole of the foot

5.

Answer : Eyelids

e Question No. 110
Which one of the following lakes completely lies in the USA?
Options:

1. Huron

2. Erie

3. Ontario
4. Michigan

5.
Answer : Michigan

Direction:
Tis sister of D. D is married to P. P is the son of M. T is the mother of J. Y is the father of U. Y has only one son and

only one daughter. U is the daughter of T. Q is the son of D.
e Question No. 1M
How is M related to J?

Options:

1. Mother

2. Father

3. Grandfather

4. Cannot be determined

5.
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Answer : Cannot be determined

Direction:
Arrangethefollowing as per the dictionary order-

e Question No. 112
1. Amazon
2. Amount
3. Amoung
4. Abound
5. Abroad
Options:

1.4,51,3,2
2.1,4,3,2,5
3.4,2,1,3,5
4.1,2,3,4,5

5.

Answer:4,5,1,3,2

e Question No. 113
Find which one of the given words cannot be made from the letters of the word* COMPANIONSHIP'.
Options:

1. OPINION
2. ONION

3. POISON

4. COMMON

5.
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Answer : COMMON

e Question No. 114

If M =14 and MUD =43, THEN DUMBL E=?
Options:

1.100
2.124
3.105
4.187

5.

Answer : 105

e Question No. 115

In a certain code, “7 8 2” means “to join protest” and “9 5 8” means “after abolished protest” and “2 4 5” means “to

abolished penalty”. Which of the following is the code for ‘penalty?
Options:

1.8
2.6
3.4
4.7

5.
Answer: 4

Direction:

In each of the following questions, a letter-number seriesis given with one or moreterms missing as shown by (?).
Choose the missing term out of the given alter natives and select the next term of the series.

e Question No. 116

PARAGRAPH, ARAGRAPH, ARAGRAP, RAGRAP, RAGRA
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Options:

1. AGAR
2. AGRA
3.RAAG
4. ARAG

5.

Answer : AGRA

e Question No. 117

In the following question, select the odd one out from the given alter natives.
Options:

1 IRGT

2. MNCW
3.LOHS
4.BYIR

5.
Answer : MNCW

Direction:

In each question below ar e given two statements followed by two conclusionsnumbered | and 1. You haveto take
the two given statementsto betrue even if they seem to be at variance with commonly known facts and then decide

which of the given conclusionslogically follows from the two given statements, disregarding commonly known facts.
Give Answer:

¢ Question No. 118
Statements:
Some apples are bananas.

All bananas are guavas.
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Conclusions:

I. All bananas are apples.

Il. Some guavas are bananas.
Options:

1. If only conclusion | follows
2. If only conclusion Il follows
3.If either | or Il follows

4. If neither | nor Il follows

5.

Answer : If only conclusion Il follows

e Question No. 119

If ‘J + K" means that J is the father of K, ‘J X K" means that J is the mother of K, ‘J - K" means ‘)’ is the wife of K, then

which of the following means that M is the son -in - law of L?
Options:

1LJ+MXN-L
2 J+MXN-L
3J+LXN-M
4. Cannot be determined

5.
Answer:J+LXN-M
Direction:

In each of the following questions, select the related letter/number from the given alternatives.

e Question No. 120

England : cricket :: Spain :?
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Options:

1. Ice-Hockey
2. Bull-fighting
3. Table tennis
4. Rugby

5.

Answer : Bull-fighting

e Question No. 121

Mita started walking towards North. After walking 25 metres she turned right and walked 20 meters and took a left

turn and walked 5 meter. In which direction Mita is now from the initial point?
Options:

1. North

2. North West
3. North East
4. East

D;

Answer : North East

e Question No. 122

If P means ‘multiplied by’, T means ‘subtracted’, M means ‘added to’ and B means ‘divided by’, then30B6P15T9 M

16="?

Options:
1.80
2.81
3.82

4.84
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Answer : 82

e Question No. 123

Arrange the given words as in a dictionary and tick the one that come last.
Options:

1. Auspicious
2. Autumn
3. Australia
4. Aluminium

5.
Answer : Autumn
Direction:
In the following question, choose one number which is similar to the numbers in the given set.
e Question No. 124
Given set: 666, 633, 721
Options:

1.523
2.235
3.123
4.213

5.
Answer : 523

Direction:

In each of the following questions, select the related letter/number from the given alternatives.

0(6



e Question No. 125

RSGT : 1819720

Options:

1. 1231145
2.12311451
3.12131415
4.123451M

5.

Answer : 12131415

e Question No. 126

Select the missing number from the given responses.

LMNO

216 32

184

104 ?

152

248 12

260

Options:

1.48
2.56
3.46
4.53

5.

Answer : 48

?
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e Question No. 127
What will come in place of question mark(?) in the following series?
KUD  FPH CMJ  XHN 7
Options:

1. WKJ
2.DNH
3. UEP
4.BYX

5.

Answer : UEP

e Question No. 128

If all the letters of the word "DI SAPPEARS' are arranged in alphabetical order then how many letters will retain

their original position?
Options:

1. None
2.0ne
3. Two
4.Three

5.
Answer : Two
Direction:
Select the odd letters/number/symbols form the given alternatives.
e Question No. 129

Find the one which does not belong to that group?



0D
ixam Pees @

Options:

1. 426
2.732
3.543
4.845

5.

Answer : 845

e Question No.130

If you are the twelfth person in the queue starting from either end, then the number of persons in the queue?
Options:

1.20
2.21
3.23
4.22

5.

Answer : 23

e Question No. 131

210m long train crosses another 350m long train running in the opposite direction in 12.6 seconds. If the speed of

the first train is 56 kmph, what is the speed of the second train in kmph?
Options:

1.100 kmph
2.210 kmph
3.102 kmph
4.104 kmph

5.
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Answer : 104 kmph

Direction:
Simplify the following questions:

e Question No.132
V156 x (3/7) x /196 = ? + /1225
Options:

1.19
2.24
3.169

4.20

Answer : 169

e Question No. 133
If x2+y2=36& xy=32thenx+y=7?
Options:

1.9
2.8
3.10
4.6

5.

Answer : 10

e Question No. 134

A can do a piece of work in 45 days and B in 60 days. If they together work on it for 4 days, then the fraction of the

work that is left is :
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Options:

1.37/44
2.38/45
3.73/108
4.13/20

5.42/53

Answer : 38/45

e Question No. 135

A person incurs 6% loss by selling a charger for Rs. 1410. At what price should the same charger be sold to earn 14%

profit?
Options:

1. Rs.1680
2.Rs. 1415
3.Rs. 1710
4.Rs.1648

D;

Answer : Rs. 1710

e Question No. 136

The sum of three numbers is 70. The ratio of the first to the second is 3/4, and the ratio of the second to the third

is 6/7. Find the second number ?
Options:

1.25
2.24
3.30

4.28
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Answer: 24

Direction:
Simplify the following questions:

e Question No. 137
12% of 300 + x% of 600 = 96
Options:

1.12
2.4
3.10
4.7

5.

Answer : 10

e Question No. 138

The average expenditure of Kundan for the January to June is Rs.8300. He spent Rs.7800 in January and Rs.7500 in

July. The average expenditure for the months of February to July is:
Options:

1. 8400
2.8250
3.8500
4.7000

5.

Answer : 8250

e Question No. 139
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A man can row his boat with the stream at 14 km/h and against the stream in 8 km/hours. The man’s rate is
Options:

1.10 km/hr
2.12 km/hr
3.15 km/hr
4.1 km/hr

5.

Answer : 11 km/hr

Question No. 140

Two year ago, ratio of Shiv and Pankaj age’s was 4 : 5 respectively. After 7 years, this ratio becomes 5 : 6.Find the

present age of Pankaj ?
Options:

1.45
2.43
3.4

4.47

5.
Answer : 47

Direction:

In the following questions, the descriptive sentence is aptly described by just one word. Select the choice which gives
the meaning most appropriately.

Question No. 141
A person who is very knowledgeable and enthusiastic about an activity, subject or pastime
Options:

1. Aficionado
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2. Freak
3. Fiend
4. Connoisseur

5.

Answer : Aficionado

e Question No. 142
Identify the incorrect plural
Options:

1. Mice
2. Geese
3. Elves
4. Thesis

5.
Answer : Thesis

Direction:

In the following questions, some part of the sentence may have errors. Find out which part of the sentence has an
error and select the appropriate option. If a sentenceisfreefrom error, select ‘No Error'.

e Question No. 143

(A) The confusion has arose a textual error/ (B) in an early edition /(C) of Ptolemy’s Geography / (D) No error.
Options:

1A
2.B
3.C
4.D

5.

Answer: A
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Direction:

In the following questions, some part of the sentence may have errors. Find out which part of the sentence hasan
error and select the appropriate option. If a sentenceisfreefrom error, select '"No Error'.

e Question No. 144

(A) It was not at all clear at the / (B) time which his work /(C) would transcend the ages / (D) No error.
Options:

1A
2.B
3.C
4.D

5.
Answer : B

Direction:

In the following sentences, thereisone blank. Find out the appropriate word for filling up the blank which makes
the sentence meaningfully complete.

e Question No. 145

The Supreme Court hastaken ____ of the situation very well in this case, which was not expected.
Options:

1. Hold

2. Mould
3. Might
4. Match

5.
Answer : Hold

Direction:

In the following questions, four words have been given out of which one of them iswrongly spelt. Identify that
incorrect word and mark it asyour answer.
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e Question No. 146
Spot the incorrect word
Options:

1. Access
2. Excess
3. Excesseve
4. Strain

5.
Answer : Excesseve

Direction:

Which of the phrases (1), (2), (3) and (4) given below should replace the phrase given in bold in the following
sentence to make the sentence grammatically meaningful and corr ect.

e Question No. 147
Wash with my clothes, my cell phone no longer worked.
Options:

1. Washing with

2. Wash in

3. Washed with

4. No correction required

5.
Answer : Washed with

Direction:

In each of the questions given below a phrase/idiom is given and four options are given below it. You have to choose
the option which best describes the meaning of the phrase/idiom.

e Question No. 148

Play it by the ear
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Options:

1. to plan something in advance and act according to it to reach success.

2. to pressurize someone to do something that you already know will be a failure.

3. to proceed instinctively according to circumstances rather than according to rules or a plan.
4. to ask someone to do something repeatedly.

5.
Answer : to proceed instinctively according to circumstances rather than according to rules or a plan.

Direction:

I'n each of the questions given below a phrase/idiom is given and four options are given below it. You have to choose
the option which best describes the meaning of the phrase/idiom.

e Question No. 149
On the ball
Options:

1. acting against the main person in a group

2. quick to understand and react to a situation

3. running around to complete the tasks assigned
4. keeping a low profile

5.

Answer : quick to understand and react to a situation

¢ Question No. 150
He filled his application for the registration.
Options:

1. He is the filler of the application for the registration.
2. He has filled the application form for the application.
3. The application for the registration was filled by him

4. The application for the registration is filled by him.
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Answer : The application for the registration was filled by him
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